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‭Booklet B‬

‭Qn‬ ‭Suggested answers‬

‭29 a‬ ‭Benefit for bird P: Bird P is able to obtain food.‬

‭Benefit for animal R: Animal T is removed from Animal R’s body,‬
‭preventing animal T from feeding on animal R’s blood.‬

‭29 b‬ ‭C: The chances of animal R surviving is higher.‬
‭E: When bird P is present, Animal R is able to spot humans from a further‬
‭distance and humans are always spotted.‬
‭R: This increases Animal R’s chances of escaping from humans.‬

‭30 a‬ ‭The sharper the pencil tip, the deeper it pierces into the plasticine.‬

‭30 b‬ ‭The roots will pierce deeper, allowing the seedling to anchor itself in the‬
‭(muddy) soil.‬

‭30 c‬ ‭The seedling will have to compete with the parent plant for sunlight, space‬
‭and nutrients.‬

‭31‬ ‭When Alex was resting, his body needs lesser oxygen and digested food‬
‭so the heart pumps slower to send digested food and oxygen more slowly‬
‭to the different parts of the body.‬

‭32 a‬ ‭Population of B increases.‬

‭32 b‬ ‭B is the prey C / C is the predator of B.‬

‭32 c‬ ‭When the temperature of seawater increases, the population of C‬
‭decreases so there will be fewer C feeding on B.‬

‭33 a‬ ‭Keep the amount of water in each container the same.‬
‭This will ensure that the amount of oxygen / carbon dioxide is the same in‬
‭each container.‬



‭33 b‬ ‭Yes. In container 1, the colour of liquid X was yellow. In the presence of‬
‭light, P could only respire and did not photosynthesize.‬

‭34 a‬ ‭She counted the number of (oxygen) bubbles produced by the water plant‬
‭per minute.‬

‭34 b‬ ‭To check if consistent results are obtained during the trials‬

‭34 c‬ ‭Light. Keep the distance between the light source and the water plant the‬
‭same in all the trials.‬

‭35 a‬

‭35 b‬

‭35 c‬ ‭Both foils will be in contact with the metal foil (inside the tunnel) earlier‬
‭compared to the other designs.‬

‭35 d‬ ‭Decrease. The bulbs are connected in series so there will be less‬
‭electricity flowing through each bulb / the circuit.‬

‭36 a‬ ‭P- gas   Q - liquid‬

‭36 b‬ ‭The warmer water vapour from the surrounding lost heat to the cooler tub‬
‭and condensed.‬
‭The water droplets lost heat to the cooler tube and froze.‬

‭37 a‬ ‭25 ℃‬

‭37 b‬ ‭C: Y‬
‭E: The temperature of water in the beaker wrapped with material Y‬
‭increases slower.‬
‭R: Y is a poorer conductor of heat. Heat is conducted slower from the‬
‭hotter iron to Ming Li’s hand.‬



‭38 a‬

‭38 b‬ ‭It is able to reflect light.‬

‭38 c‬ ‭It saves electricity.‬

‭39 a‬ ‭Frictional force opposes motion.‬

‭39 b‬ ‭An opened canopy caused the parachute to take a longer time to reach‬
‭the ground.‬

‭39 c‬ ‭Gravity and Friction‬

‭39 d‬ ‭It can travel further so it can escape from predators more easily.‬

‭40 a‬ ‭Potential Energy to Kinetic Energy to Kinetic Energy to Electrical Energy‬

‭40 b‬ ‭The amount of electricity produced by the generator increases.‬

‭As the distance d increases, water gains more potential energy which gets‬
‭converted to more kinetic energy. More kinetic energy is transferred to the‬
‭wheel. As the wheel turns faster more kinetic energy is converted to more‬
‭electrical energy.‬

‭40 c‬ ‭Does not burn fossil fuels.‬


